107}

1072

10

1.z

1.1

Ratio
=

0.9
08

|_\

[ pull of @parameter

0—86—420246810

Ratio

[ pull of goverp parameter |

1072

107

10

1.z

1

0.8 '
—10—8—6—4 -2 0 2 4 6 8 10

107}

1072

1073

10

Ratio

{RE .:
O] G538
i .
Tes
td Dev 0.09 %
onstant OdJ %ﬁ
ean -

“ogma 10

TIes

e; -0,0939
G Bev
onstant 0

earn =0,
1gma 1

[ pull of dxy parameter

-10-8 6 -4 -2 0 2

107}

1072

10™

1.2

1.

Ratio

iy
T

0.9

[
o 0.04
on Yﬂ 0

0

res
id Dev o.qL
onstant 0 8]5
6k ']re 7‘L

0.8

ﬁnn

0864202465';10

puII of 6 parameter |

te”e:v 0.04
_ onstant X
107 R T 8
F 3 res -
F & 0.
3 ‘é‘s]sgﬁ‘(n 0g
1072 A 7 i 0,1
F 0 t 8
-3
10°F

Ratio

—.L086420246810

[ pull of dz parameter

107}

1072

Ratio

-10-8 -6 4 =2 0 2 4 6 810



	Contents
	Page 1


